C:# Rewriting Expressions Name:

Rewrite each expression in its simplest form. Answers
V(YN +6) - (YaoN +20) .
2.
D (Ypp-18)- (%8 +9) ;
4,
V(YK -3)- (VK- 15) ;
6.
Y (Yot 3y (Vg 7) .
8.
¥ (YW -20) + (oW + 16) o
10.
6)

(VeH -8) - (“TpgH +17)

D (Ym-20) - (oM - 16)

D (Zp+a)- (VD7)

K -(4/7v-12)+(5/35v+17)

D (Tx+6)+ (Vx4 18)
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ﬂh Rewriting Expressions Name: Answer Key

Rewrite each expression in its simplest form. Answers
D (YN +6) - (YagN + 20) L eN-14
2YuoN + 6 - VN - 20 - 7,B2T
? (%8-18)- (B +9) . /K12
1 eB - 18- "7pgB - 9 L ST
¥ (6/12K -3) - ( 1/4K - 15) 5, -25/40W-4
YK -3- 7K + 15 . S/H9
Y Urazyr (Vg 7) L /oM+36
S gT -3+ VigT+7 8 ~7D+3
¥ (YW -20) + (oW + 16) o - /5
3 oW + 20+ 7,0 + 16 o TpX+12
6)

(VoH-8) - (TpuH +17)

15 21
/ogH+ 8-/ oyH - 17

7)

[

-(/M-20)-(15/20M-16)

5 15
-/20M + 20 - /20M + 16

D (Zp+a)- (VD7)

8 28
/3D -4-"/3D+7

K -(4/7v-12)+(5/35v+17)

20 5
sV 12+ 3V + 17

10 3 28
D (Yx+6)+ (g +18)

12 28
S oX -6+ /X +18
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